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Question Bank

1. Why are pentahalides more covalent than

trihalides?

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_PlnafOl9mYar

2. Why is BiHj3 the strongest reducing agent

among all the hydrides- of group 15 elements?

° Watch Video Solution

3.Why is N, less reactive at room temperature?

o Watch Video Solution

4. The principle goal of chemical synthesis is to
maximize the conversion of reactants into products.

Le-Chatlier's principle can be applied to achieve this


https://dl.doubtnut.com/l/_KXlSthp2czPs
https://dl.doubtnut.com/l/_DE46kWyyDYvO
https://dl.doubtnut.com/l/_mUanfK1Iu7i6

goal.
Preidct the conditions to be applied to maximize the
production of ammonia in the following reaction:

Ny(g) + 3Hy(y) < 2NH3(,) AH = — 92.38kjmol

o Watch Video Solution

5. How does ammonia react with a solution of Cu? ™

?

o Watch Video Solution

6. What is the covalence of nitrogen in N,Ox?

| =& ]


https://dl.doubtnut.com/l/_mUanfK1Iu7i6
https://dl.doubtnut.com/l/_AMBNOY0IKx6q
https://dl.doubtnut.com/l/_Zc2fBEVRDPiX

| &9 Watch Video Solution

7.Bond angle in is PH4Jr higher than that in PHj

o Watch Video Solution

8. What happens when white phosphorus is heated

with NaOH solution in an inert atmosphere of CO,

?

o Watch Video Solution

9. What happens when PCl; is heated?


https://dl.doubtnut.com/l/_Zc2fBEVRDPiX
https://dl.doubtnut.com/l/_aZXBPnf5LeEs
https://dl.doubtnut.com/l/_nwyGlT77x6TQ
https://dl.doubtnut.com/l/_3W2Sk3ZQISqG

o Watch Video Solution

10. Write balanced equation for the hydrolytic

reaction of PCly with heavy water?

o Watch Video Solution

11. What is the basicity of H3PO,?

o Watch Video Solution

12. What happens when H3 POs is heated?

| =& ]


https://dl.doubtnut.com/l/_3W2Sk3ZQISqG
https://dl.doubtnut.com/l/_oW7Dc54N18nV
https://dl.doubtnut.com/l/_9mPNvnYhcxtV
https://dl.doubtnut.com/l/_E8X7jw5tO3Rv

| &9 Watch Video Solution

13. List the important sources of sulphur

o Watch Video Solution

14. Write the order thermal stability of the hydrides

of group-16 elements

o Watch Video Solution

15. H,S is a gas at ordinary condition, while HyO is

liquid. Account for the above statement.


https://dl.doubtnut.com/l/_E8X7jw5tO3Rv
https://dl.doubtnut.com/l/_oEAQ2WmbF1fg
https://dl.doubtnut.com/l/_bxzR47oXDBP3
https://dl.doubtnut.com/l/_Yjcz6LAHZ27m

o Watch Video Solution

16. Which of the following does not react with O,

directly Zn, Ti,Pt, Fe?

o Watch Video Solution

17.  Complete the following

02H4 + 02 —

reactions?

° Watch Video Solution



https://dl.doubtnut.com/l/_Yjcz6LAHZ27m
https://dl.doubtnut.com/l/_8jUFhfZzAYd7
https://dl.doubtnut.com/l/_ruJ6Jd62S5qV

18. Complete the following reactions? '4Al+30 2

o Watch Video Solution

19. Why does ozone act as a powerful oxidising

agent?

° Watch Video Solution

20. Suggests method for the quantitative estimation

of ozone (Os3).

o Watch Video Solution



https://dl.doubtnut.com/l/_eJh1bIhbNQ6L
https://dl.doubtnut.com/l/_wYYjkPnySrNj
https://dl.doubtnut.com/l/_HbSOTvPJNTpd

21. What happens when S0, is passed through an

aqueous solution of Fe (lll) salt?

o Watch Video Solution

22. Comment on the nature of two S-O bonds in
SO, molecule. Are the two S:0 bonds in this

molecule equal?

o Watch Video Solution

23. How is the presence of SO, detected?


https://dl.doubtnut.com/l/_HbSOTvPJNTpd
https://dl.doubtnut.com/l/_usHIYxqGRpqR
https://dl.doubtnut.com/l/_4j0Agge4ypfn
https://dl.doubtnut.com/l/_v3FCWz6jpK0z

o Watch Video Solution

24. Mention three areas in which Hy50,plays an

important role.

o Watch Video Solution

25. Write the conditions to maximise the yield of

H,50, in contact process.

° Watch Video Solution



https://dl.doubtnut.com/l/_v3FCWz6jpK0z
https://dl.doubtnut.com/l/_JsJugnZZHEKW
https://dl.doubtnut.com/l/_Ae2oO1wm46C8

26. Why is Kay less than Ka; for H,50, in water.?

o Watch Video Solution

27. Considering the parameters such as bond
dissociation enthalpy, electron gain enthalpy and
hydration enthalpy, compare the oxidising power of

F, and Cl,.

o Watch Video Solution



https://dl.doubtnut.com/l/_WNI7jgzbAe5A
https://dl.doubtnut.com/l/_3whXIa6PoarR

28. Give two examples to show the anomalous

behaviour of fluorine.

o Watch Video Solution

29. Sea is the greatest source of halogens.

Comment.

o Watch Video Solution

30. Give the reason for the bleaching property of

chlorine.

.


https://dl.doubtnut.com/l/_pihXCOEXlVOm
https://dl.doubtnut.com/l/_EzSF5Wzv24lr
https://dl.doubtnut.com/l/_fQLWkBmfsW12

| ¥ Watch video solution |

31. Name two poisonous gases that can be prepared

from chlorine gas

o Watch Video Solution

32. Why is ICI more reactive than I, ?

o Watch Video Solution

33. Why is helium used in diving apparatus?

o Watch Video Solution



https://dl.doubtnut.com/l/_fQLWkBmfsW12
https://dl.doubtnut.com/l/_INNr7b325p4L
https://dl.doubtnut.com/l/_L4ZYeYA68R3g
https://dl.doubtnut.com/l/_KcCobs8f30cQ

34. Why has it been difficult to study the chemistry

of radon?

o Watch Video Solution

35. Elements in the groups 13 to 18 in the periodic
table constitute the ‘p’ block elements. Name the

most important oxo acid of nitrogen

o Watch Video Solution



https://dl.doubtnut.com/l/_KcCobs8f30cQ
https://dl.doubtnut.com/l/_Rdb6zhKbbkla
https://dl.doubtnut.com/l/_fx12CHg5bq6P

36. Elements in the groups 13 to .18 in the periodic
table constitute the ‘p’ block elements. How will you.

prepare the above oxo acid on large scale?

° Watch Video Solution

37. Elements in the groups 13 to .18 in the' periodic
table constitute the ‘p’ block elements. In general,

noble gases are least reactive. Why?

o Watch Video Solution



https://dl.doubtnut.com/l/_90nDAiKxhYUp
https://dl.doubtnut.com/l/_fNqFagWGMWe3

38. After a discussion about the structures of
hydrides of group-15 elements, .Neethu wrote the

order of bond angles as NHy < PH; < AsHs. Is

this the correct order?

o Watch Video Solution

39. After a discussion about the structures of
hydrides of group-15 elements, .Neethu wrote the

order of bond angles as NH; < PH; < AsHs.

Justify ‘your answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_RpgbSrU1wVvh
https://dl.doubtnut.com/l/_ou16q9tZTrYE

40. After a discussion about the structures of
hydrides of group-15 elements, .Neethu wrote the
order of bond angles as NH; < PH; < AsHs.

Give the hybridization and shape of these hydrides.

o Watch Video Solution

41. After a discussion about the structures of
hydrides of group-15 elements, .Neethu wrote the
order of bond angles as NH; < PH; < AsHs.
Also arrange the above hydrides in the increasing

order of their thermal stability. Justify your answer.

o Watch Video Solution



https://dl.doubtnut.com/l/_5Sa7LcgNTuzj
https://dl.doubtnut.com/l/_g9I4gMGthTao

42. Discovery, of Haber’s process for manufacture of
ammonia is considered to be one of the principal
discoveries of twentieth century. Which is the
promoter used in the earlier process when iron was

used as catalyst?

° Watch Video Solution

43. Discovery, of Haber’s process for manufacture of
ammonia is considered to be one of the principal

discoveries of twentieth century. What is the


https://dl.doubtnut.com/l/_g9I4gMGthTao
https://dl.doubtnut.com/l/_boipCMKwzllz
https://dl.doubtnut.com/l/_iNzBT78dpfPM

temperature condition for maximum vyield of

ammonia? Justify.

° Watch Video Solution

44, Discovery, of Haber’s process for manufacture of
ammonia is considered to be one of the principal
discoveries of twentieth century. Explain how can
you convert NH; to HNQO3; on a large scale

commercially.

° Watch Video Solution



https://dl.doubtnut.com/l/_iNzBT78dpfPM
https://dl.doubtnut.com/l/_YOXYshM6Y23A

45, Phosphorus of group-15 and sulphur of group-16
are two industrially important 'p’ block elements
Their, compounds are also industrially important.

hea
4H,PO; -5 3H,PO, + PH;. show that this is a

disproportionation reaction

o Watch Video Solution

46. Phosphorus of group-15 and sulphur of group-16
are two industrially important 'p’ block elements
Their, compounds are also industrially important.

PCl5 fumes in moisture. Give reason.

o Watch Video Solution



https://dl.doubtnut.com/l/_OlvCJaibjaLu
https://dl.doubtnut.com/l/_475TmOsztk9D

47.Phosphorus of group-15 and sulphur of group-16
are two industrially important 'p’ block elements
Their, compounds are also industrially important.
Sulphuric acid can be manufactured from sulphur
using Vs, _ 5 catalyst., Give the name of the

method.

o Watch Video Solution

48. Phosphorus of group-15 and sulphur of group-16
are two industrially important 'p’ block elements

Their, compounds are also industrially important.


https://dl.doubtnut.com/l/_475TmOsztk9D
https://dl.doubtnut.com/l/_qQzYSTUTqtTT
https://dl.doubtnut.com/l/_bdqQymRC5ZkI

Sulphuric acid can be manufactured from sulphur

using V5o _ 5 catalyst., Outline the principle

° Watch Video Solution

49. Important allotropic forms of phosphorus are
white phosphorus, red phosphorus and black
phosphorus. Among these, which allotropic' form is

more reactive? Why

o Watch Video Solution



https://dl.doubtnut.com/l/_bdqQymRC5ZkI
https://dl.doubtnut.com/l/_YF5IM4PKTrx9

50. In the manufacture of sulphuric acid (H,S50,),

the final product obtained is oleum. What is oleum?

° Watch Video Solution

51. In the manufacture of sulphuric acid (H,S50,),
the final product obtained is oleum. Write chemical
equation for the conversion of oleum to sulphuric

acid.

o Watch Video Solution



https://dl.doubtnut.com/l/_MM9HLHfpemRy
https://dl.doubtnut.com/l/_H512IVzULMEl

52. Name the halogen-which forms only one oxo acid
and also write the formula of the oxo acid of that

halogen.

° Watch Video Solution

53. Which element among inert gases form,
maximum number of compounds? Write the formula

of one of the compounds formed by the element.

o Watch Video Solution



https://dl.doubtnut.com/l/_DA0qhgQclFzy
https://dl.doubtnut.com/l/_7QAIzYBXNxJ6

54. What are the products obtained when copper

reacts with concentrated nitric acid?

o Watch Video Solution

55. Name two important xenon fluorides.

° Watch Video Solution

56. Give the structure of the above xenon fluorides..

o Watch Video Solution



https://dl.doubtnut.com/l/_qTeAxBxQa3gU
https://dl.doubtnut.com/l/_zMFjO7WFIJlN
https://dl.doubtnut.com/l/_Q98kwLr9W6VS
https://dl.doubtnut.com/l/_O84oSlfzf0QY

57. Interhalogen compounds are compounds formed
by combination of different halogen atoms. Which
are more reactive, halogens or interhalogen

compounds? Give reason

o Watch Video Solution

58. Nitrogen forms number of oxides in the different
oxidation states. Write the names and structural

formulae of any four oxides of nitrogen.

o Watch Video Solution



https://dl.doubtnut.com/l/_O84oSlfzf0QY
https://dl.doubtnut.com/l/_zrd8HPlzNWT7

59. Boiling point of Hy0O (373K) is very much higher

than that of H,S (213 K). Give reason.

° Watch Video Solution

60. Suggests method for the quantitative estimation

of ozone (O3).

o Watch Video Solution

61. What are the products obtained when copper

reacts with concentrated nitric acid?

.Y


https://dl.doubtnut.com/l/_zhPio7j5Px7g
https://dl.doubtnut.com/l/_wKkWxKLLXqF0
https://dl.doubtnut.com/l/_GIs7yIGfo7PJ

| ¥ Watch video solution |

62. Write down the chemical reaction between

concentrated nitric acid and aluminium.

o Watch Video Solution

63. What is the basicity of H3 PO3?

o Watch Video Solution

64. How do you account for the basicity of

o View Text Solution



https://dl.doubtnut.com/l/_GIs7yIGfo7PJ
https://dl.doubtnut.com/l/_oh7wVi3D5LgC
https://dl.doubtnut.com/l/_AT0Byl3dSaNB
https://dl.doubtnut.com/l/_VAdQmq9FiCj9

65. Write down the main three steps involved in the
manufacture of sulphuric. acid by the contact

process.

o Watch Video Solution

66. Write any two important uses of noble gas

elements.

o Watch Video Solution



https://dl.doubtnut.com/l/_VAdQmq9FiCj9
https://dl.doubtnut.com/l/_9B6HKOAP7MW9
https://dl.doubtnut.com/l/_1OAe9nDuFoJM

67. Compounds of nitrogen, phosphorus and
sulphur such as ammonia, phosphoric acid and
sulphuric acid are used in fertilizer industry.
Describe Haber process for the manufacture of

ammonia.

° Watch Video Solution

68. Compounds of nitrogen, phosphorus and
sulphur such as ammonia, phosphoric acid and
sulphuric acid are used in fertilizer industry. Write
the chemical equation for the preparation of

phosphoric acid (H3PO,) from H3POs;


https://dl.doubtnut.com/l/_quA1jEBgBtbj
https://dl.doubtnut.com/l/_fz5H8QzIM7Md

o Watch Video Solution

69. Write down the main three steps involved in the
manufacture of sulphuric. acid by the contact

process.

o Watch Video Solution

70. Ammonia and Nitric acid are two industrially
important compounds. Write any two uses of

ammonia.

o Watch Video Solution



https://dl.doubtnut.com/l/_fz5H8QzIM7Md
https://dl.doubtnut.com/l/_PPlZzHp1G4l2
https://dl.doubtnut.com/l/_utyghrt2vD4K

71. Ammonia and Nitric acid are two industrially
important compounds. Complete the following
equations. (Balancing is not required)

pt
NH; + 0y ——
500K ,9bar

o Watch Video Solution

72. Ammonia and Nitric acid are two industrially
important compounds. Complete the following

equations. (Balancing is not required)

Cu + con. HNO3 —

o Watch Video Solution



https://dl.doubtnut.com/l/_n8cIZPD6JGeo
https://dl.doubtnut.com/l/_xw3o18HCPdB3

73. Ammonia and Nitric acid are two industrially
important compounds. Complete the following

equations. (Balancing is not required)

Zn + dil. HNO; —

o Watch Video Solution

74. Ammonia and Nitric acid are two industrially
important compounds. Complete the following
equations. (Balancing is not required) NH; +

excess Clyto

o Watch Video Solution



https://dl.doubtnut.com/l/_xPbaxcuVPXHP
https://dl.doubtnut.com/l/_TnEiKxYaYMi2

75. Ammonia and Nitric acid are two industrially
important compounds. Phosphorus forms a number
of oxoacids.. Write the name or formulae of any two

oxoacids. of phosphorus.

o Watch Video Solution

76. Ammonia and Nitric acid are two industrially
important compounds. Account for the following:

PCl5 fumes in moist air

° Watch Video Solution



https://dl.doubtnut.com/l/_I0eGHTAcQAZf
https://dl.doubtnut.com/l/_Bxn6XwY1QDKP
https://dl.doubtnut.com/l/_KNml7nynds34

77. Ammonia and Nitric acid are two industrially
important compounds. Account for the following:

Nitrogen does not form a pentahalide,,

o Watch Video Solution

78. Ammonia and Nitric acid are two industrially
important compounds. Account for the following:

Boiling point of PHj is less than. that of NH;

o Watch Video Solution



https://dl.doubtnut.com/l/_KNml7nynds34
https://dl.doubtnut.com/l/_R1rGK6kqsfAF

79. Ammonia and Nitric acid are two industrially
important compounds. Account for the following:

NO5 undergoes dimerisation.

° Watch Video Solution

80. Some elements in p-block shows allotropy. What

are the allotropic forms of sulphur?

o Watch Video Solution



https://dl.doubtnut.com/l/_qviMvvs28IX8
https://dl.doubtnut.com/l/_nf1PujxcJwP4

81. Some elements in p-block shows allotropy. How
will-you manufacture Sulphuric Acid by contact

process?

° Watch Video Solution

82. Some elements in p-block shows allotropy. What

are inter halogen compounds?

o Watch Video Solution



https://dl.doubtnut.com/l/_Yzi4QzI00CNJ
https://dl.doubtnut.com/l/_1cwQDdTySKuF

83. Some elements in p-block shows allotropy. Name

two oxoacids of Sulphur.

o Watch Video Solution

84. Some elements in p-block shows allotropy. How

will you manufacture ammonia by Haber process?

o Watch Video Solution

85. Some elements in p-block shows allotropy. Write

any two uses of inert gases.

.Y


https://dl.doubtnut.com/l/_UIXdpRLgCuzJ
https://dl.doubtnut.com/l/_EeitziDE1dsl
https://dl.doubtnut.com/l/_psWl6JE5D3Pl

| ¥ Watch video >olution |

86. What are interhalogen compounds? Write any

two examples.

° Watch Video Solution

87. Write a method of preparation of phosphine

from white phosphorus

o Watch Video Solution



https://dl.doubtnut.com/l/_psWl6JE5D3Pl
https://dl.doubtnut.com/l/_vW9i3ECgE2RL
https://dl.doubtnut.com/l/_9MnatFYcAtcp

88. Write the. name or formula of oxo acid of

chlorine, in which chlorine has oxidation number +7

o Watch Video Solution

89. Draw the structures of XeOsand XeFj

° Watch Video Solution

90. Account for the following: INHjzacts-as a Lewis

base.

o Watch Video Solution



https://dl.doubtnut.com/l/_Li0eWXwnDwqX
https://dl.doubtnut.com/l/_sKbUjuFHDTYr
https://dl.doubtnut.com/l/_h9eZqLlJfrlH

91. PCl5 fumes in moist air. Give reason.

o Watch Video Solution

92. Account for the following: Fluorine shows only-1

oxidation state.

o Watch Video Solution

93. Suggest any two fluorides of Xenon

° Watch Video Solution



https://dl.doubtnut.com/l/_h9eZqLlJfrlH
https://dl.doubtnut.com/l/_wOTfRQ0YaHNJ
https://dl.doubtnut.com/l/_0bVJdYkNj46i
https://dl.doubtnut.com/l/_zdKjHRJqxWAO

94. Write a method to prepare any one of the above

mentioned X Xenon fluorides. “

° Watch Video Solution

95. H,S is a gas at ordinary condition, while HyO is

liquid. Account for the above statement.

o Watch Video Solution

96. Account for the following: Noble gases have very

low boiling points.

.Y


https://dl.doubtnut.com/l/_xLcocWj3rYB4
https://dl.doubtnut.com/l/_tP3Gcge2KLeV
https://dl.doubtnut.com/l/_xlwTVRLiMet9

| @ Watch video >olution |

97. Ammonia and Nitric acid are two industrially
important compounds. Account for the following:

NOQOs5 undergoes dimerisation.

o Watch Video Solution

98. Give the structure of the above xenon fluorides. .

o Watch Video Solution



https://dl.doubtnut.com/l/_xlwTVRLiMet9
https://dl.doubtnut.com/l/_qP8qGMNBQ2qu
https://dl.doubtnut.com/l/_gyagHNJ2avtJ

99. Write a method to prepare any one of the Xenon

fluorides

o Watch Video Solution

100. Nitrogen shows different oxidation states in
different oxides. In which of the following oxides,
nitrogen is in 44 oxidation state? NO, N5O, N5O3,
NO,

A.NO

B. N;O

C. N203


https://dl.doubtnut.com/l/_5J1VGeQQG6BU
https://dl.doubtnut.com/l/_NKfQQswltim1

D. NO,

Answer: B

o Watch Video Solution

101. Nitrogen shows .different oxidation states in
different oxides. Prepare a short write up on Nitric
acid highlighting its structure, manufacture and any

two properties.

° Watch Video Solution



https://dl.doubtnut.com/l/_NKfQQswltim1
https://dl.doubtnut.com/l/_3DYjagSfxytI

102. In which of the following phosphorus is in +1

oxidation state?

A H3 PO,

B. H; PO

c. H,P,0,

D. H, PO,

Answer: B::C

° Watch Video Solution



https://dl.doubtnut.com/l/_YKTrmNabcI4D

103. Nitrogen shows .different oxidation states in
different oxides. Prepare a short write up on
Ammonia highlighting its structure, manufacture

and properties.

o Watch Video Solution

104. Nitrogen forms a number of oxides and
oxoacids. Which of the following is a neutral oxide
of Nitrogen? NyO, NoOg, NO5, N5Oy

A. N,O

B. N,Os


https://dl.doubtnut.com/l/_Zwb7oYUgFPoM
https://dl.doubtnut.com/l/_hwv7Y5DQ4jq4

C. NO,

D. N204

Answer: B

o Watch Video Solution

105. Nitrogen forms a number of oxides and
oxoacids. Prepare a short write-up on Nitric acid
highlighting its laboratory preparation, chemical

properties and uses.

° Watch Video Solution



https://dl.doubtnut.com/l/_hwv7Y5DQ4jq4
https://dl.doubtnut.com/l/_yW4e0B6sbyBc
https://dl.doubtnut.com/l/_kAIbfrwl03Rw

106. Nitrogen forms a number of oxides and

oxoacids. The gas liberated when calcium phosphide

is treated with dil. HCl is

A.Cl,

B. H,

C. PH,

D. All the above

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_kAIbfrwl03Rw

107. Nitrogen forms a number of oxides and
oxoacids. Prepare a short write up on P(Cl3 and
PCl, highlghting the preparation and chemial

properties of PCly and structure of PCls,.

o Watch Video Solution

108. Identify the least basic compound among the

following:

A.H,0

B. HyS

C. HQSB


https://dl.doubtnut.com/l/_washO5NqEA0y
https://dl.doubtnut.com/l/_Mjkc4Dp39XUN

D. H2T€

Answer: B

o Watch Video Solution

109. Explain the step P and Q.

_ StepP . StepQ . .
302 - “SOB g . f HZSO4 ‘

o Watch Video Solution

110. Give a reaction which indicates dehydration

property of con. H,50,


https://dl.doubtnut.com/l/_Mjkc4Dp39XUN
https://dl.doubtnut.com/l/_WzRr8tEpsrfY
https://dl.doubtnut.com/l/_S4SXWnOZiLWH

o Watch Video Solution

111. Write any two uses of sulphuric acid.

o Watch Video Solution

112. Identify the least basic compound among the

following:

A NH,

B. PH,

C. ASH3


https://dl.doubtnut.com/l/_S4SXWnOZiLWH
https://dl.doubtnut.com/l/_CJwBQ5BwNnlI
https://dl.doubtnut.com/l/_AkQcz1LeVSbc

D. SbH,

Answer: B::C

o Watch Video Solution

113. Which of the following will have the most
negative electron gain enthalpy and which the least
negative ?

P,S,Cl,F. Explain your answer.

o Watch Video Solution



https://dl.doubtnut.com/l/_AkQcz1LeVSbc
https://dl.doubtnut.com/l/_YZNzAZQnUjT5

114. Draw the structure of perchloric acid (HCIO,)

o Watch Video Solution

115. What are interhalogen compounds? Write any

two examples.

o Watch Video Solution

116. Ozone is an allotrope of oxygen. The ozone layer
present at the upper part of the atmosphere

protects the earth’s surface from excess UV


https://dl.doubtnut.com/l/_7sGWFA2zABxl
https://dl.doubtnut.com/l/_PZQ6e0eLv1J9
https://dl.doubtnut.com/l/_rEJCEKZfoARD

radiation. Why does O3 act as a strong oxidising

agent?.

° Watch Video Solution

117. Ozone is an allotrope of oxygen. The ozone layer
present at the upper part of the atmosphere
protects the earths surface from excess UV
radiation. Why does black lead sulphide become

white, on treating with ozone?

° Watch Video Solution



https://dl.doubtnut.com/l/_rEJCEKZfoARD
https://dl.doubtnut.com/l/_2sN5dAz0ANfh

18. Suggests method for the quantitative

estimation of ozone (O3).

° Watch Video Solution

119. .Name two compounds that can cause depletion

of the ozone layer in the upper atmosphere

° Watch Video Solution

120. Nitrogen forms a number of oxides in which the

oxidation state of TV varies from +1 to + 5. Which


https://dl.doubtnut.com/l/_le8xJYoAC87b
https://dl.doubtnut.com/l/_Yq3ycvoX1jhw
https://dl.doubtnut.com/l/_cijc9eNw7kg5

oxides of nitrogen are paramagnetic?

o Watch Video Solution

121. Ammonia and Nitric acid are two industrially
important compounds. Account for the following:

NO5 undergoes dimerisation.

° Watch Video Solution

122. Which oxide contains N-O-N bond? Draw its

structure.

o Watch Video Solution
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